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[48d Gusrell W2 2lorsid oglldl oidd LED 2ogd, Yol za3u g 97
(A) Low Energy Device (B) Light Effective Diode
(C) Low Emission Device (D) Light Emitting Diode

IRCTC «l i/l HiorQll 2dquiz ®lRRdsd, ] ed 229d il 24269
oA sdd 97

(A) U2d (B) [adimyz

(C) «dl [e<dl (D) R1ovsi2

ARd, o/d Al USR], AU ?
(A) 4% UV 6/9Y (B) 2l UldVR 6724
(C) GMa sloitly wiuviz sl (D) Gual sleoitl sizon s/od

Yaddl Gsul [saEl G 2idal aRls HZlsell siqg0dl Holl 28édl [qsulq
gl “‘dlpin’’ Al Heldddl Al A 9. 2RIAHL BlAl HEldl sdi oAl
Ha 97

(A) G or=ld (B) okl o/l

(C) andl 4l andl a=A (D) yd uzlHi

AYsd ARHUEL Rl dAd+oRR-2016 HI SAISHZ Aeoy SlegRed COP 22 s
20l UlonsS el ?

(A) Uk (B) sulel

(C) olid (D) HU59

HeHe ARl ddl sdl (A1 URERA RAAL adlaz il ol vl sul
gal?

(A) ollvidr w4w (B) Has s

(C) sdold Hlos (D) 2zt W

A dadl sar o Mugel”’ usa a<dy savildi 97?
(A) AsLtd (B) [aigur
(C) [afarmr (D) i35
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What is the full form of the word LED in respect of electrical equipments?
(A) Low Energy Device (B) Light Effective Diode
(C) Low Emission Device (D) Light Emitting Diode

Which Indian Railway station has been declared as the cleanest one by
a recent IRCTC survey?

(A) Surat (B) Bilaspur

(C) New Delhi (D) Rajkot

Gir forest can be classified as ..........ccce......
(A) Dry deciduous forest (B) Moist deciduous forest
(C) Tropical deciduous forest (D) Tropical thorn forest

With the blowing activity of wind small sand particles move and get
deposited making plains known as “LOESS” plains. In Gujarat where
are such plains found?

(A) North Gujarat (B) Gir forest

(C) Between Tapi and Vapi (D) In the eastern belt

Where was the climate change conference COP 22 held by United
Nations in November 2016?

(A) Paris (B) Kyoto

(C) Bonn (D) Marrakech

To which of his faithful chiefs did Mohammad Ghori hand over the
administration of India and returned to Gazani?

(A) Bakhatiar Khalji (B) Malek Kafur

(C) Kuttubuddin Aaibak (D) Gyassuddin Kbhalji

Which king of the Maurya dynasty was known as “Priyadarshi” king?
(A) Chandragupta (B) Bindusar
(C) Bimbisar (D) Ashok
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€. W 1400l 2RUML Aedddsl 231 sl 0vaAstl sy [ dlar
AU gkl WHA 98”7 Al sld 2a0ml 2uda?

(A) 2lsa (B) 1414l

(C) &R (D) MR

g olloasl und 24 Held [RfEd 5457
(A) €8l Gudl [qora (B) Algsu [dovu
(C) us [doru (D) uas [dovu

56 Ul VPIHAY] MRAd Vi, WU ovdl 50 w4 gdl, o211 oval
AsHIl (2 HoY 97

(A) adsl»il (B) sleall=l

(C) ual (D) 3=

2R dplsda 59 URld [anlsdl suard eal?
(A) azsllal (B) <ldiel
(C) aqeil (D) [asusilan

oretedl Yal o<l (JSY) @ «ludl Ul 585 otioid Wil «#l?
(A) 21 Alor<l 2ol vl dsadi s3olidl waAMI Hzedl 9.
(B) >l disvell 75% $vs YRsd 9.

(C) Hidl Hd a21¢al izl 9.

(D) «dod (919 “RQd a21sal Hidl .

fidlsA avid MRddl AU 5191 ¢di?
(A) 4l $=(aq (B) g <<
(C) dié dleflorge (D) dié ¢rdb

[Adic [earlanr clami BRoll 46l 4 2aid-uziamml sui 240 oloilyl
dlanss adle gul ¢di?

(A) ™32 (B) 2orRld. sidoy, HHEIAIE

(C) sasex s32l, «dluie (D) slgyR uldld 2euq
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Around 1400 A.D, Shreedhar Was, the “state poet” of which princely
state had created the work, “Ranmal Chhand”?

(A) Gondal (B) Zalawad

(C) Idar (D) Bhavnagar

Which is the great achievement earned by Chandragupta second?
(A) Victory over Huns (B) Chalukya Victory
(C) Saka Victory (D) Yavana Victory

By the arrival of which community did India get the gift of fruits like
pineapple, papaya and vegetables like gourd and potato?

(A) Dutch (B) Portugese

(C) Zoroastrian (Parsi) (D) French

Acharya Nagarjun was the *“acharya” of which ancient university.
(A) Takshashila (B) Nalanda
(C) Vallabhi (D) Vikramshila

Which of the following is NOT true regarding Janani Suraksha Yojana

(JSY)?

(A) This scheme is for the pregnant ladies of the families below poverty
line.

(B) This scheme is 75% sponsered by centre.

(C) It is for the lowering of mother-death

(D) It is for the lowering of infant death.

Who was the Viceroy of India at the time of Dandi march?
(A) Lord Irwin (B) Lord Reading
(C) Lord Willingdon (D) Lord Hardinge

At which place did Vinod Kinarivala with a tri-colour flag in his hand
become martyr being slain by a bullet during the freedom struggle?
(A) Bharuch (B) Gujarat College, Ahmedabad
(C) Collector Office, Nadiad (D) Kalupur Police Station
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015. “‘damad” HilRs s1€ w3 s ed?
(A) it (B) &fluey uiRkw
(C) Red® (D) #-gald

016. “‘ARU¥IAR’ <l HOU 54l HEel £3ud dload 97
(A) @igue (B) 21wz
(C) Aaul (D) il

017. <l gl st “siledl” wualssdl we sal?
(A) [dZord @1 (B) GHwisz oagl
(C) €4uARIH (D) «¥e

018. litilowml 1917-18Hi wHEIEH] oy U3 sul AHi sidl uHda =ul?
(A) vigdl (B) disl
(C) »bs smeRl (D) HoyRl
019. dllAH offfl disid 58 MU Gued Al edl?
(A) wdl (B) [é€l
(C) =AtmHl (D) Guz<l sl s165 «le

020. 1938« GlRcld AU siAAd wiAda4 AL o, ¢d?
(A) 2AHEIAIE (B) %2
(C) 3yl (D) usrsie

021. He(@2 anua 24 sl ad MRS sal ddl 2iav 97?
(A) Hid da (B) otd da
(C) «udal da (D) sl da

022. #uzl (ISRO) &Rl 2icur YHHL $2al [Azell Guacl Qs il 97
(A) 140 (B) 160
(C) 180 (D) 190
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020.
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Who started the monthly “Navjivan”?
(A) Gandhiji (B) Bhimji Parekh
(C) Fardunjee (D) Indulal

During which month is the “Tarnetar” fair held?
(A) Bhadrapad (B) Ashadh
(C) Shravan (D) Magh

Who among the following started biweekly “Dandiyo”
(A) Niranjan Bhagat (B) Umashankar Joshi
(C) Dalpatram (D) Narmad

Gandhiji launched the struggle in Ahmedabad in 1917-18, which involved
the ..o

(A) peasants (B) masses

(C) industrial workers (D) labourers

In which language did Gautam Buddha preach?
(A) Pali (B) Hindi
(C) Ardhmagadhi (D) None of the above

Where was the session of the Indian National Congress held in 1938?
(A) Ahmedabad (B) Surat
(C) Haripura (D) Rajkot

The monuments, Sahastralinga lake and Ranki Vav (Step-well) gives
identity of which dynasty?

(A) Mourya dynasty (B) Gupta Dynasty

(C) Vaghela dynasty (D) Solanki dynasty

How many foreign satellites have been launched by ISRO so far?
(A) 140 (B) 160
(C) 180 (D) 190
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VHEIAIEH] slusAl Slasl woilumedl 2audl sigl 5207

(A) dldH  ARIHLES (B) [as4 RIS
(C) Heulasdl «“Rics (D) idyulold ARIMIE

=\ =\

gulde uUAdldl oveH sul ouH YUl edl?
(A) 2511 (B) YRl
(C) sl (D) a2

il Elel” Al gAMYL A diskeudi S92l urd 8 97

(A) 2idyulold u2d (B) yleiHiold usal
(C) wullold w2y (D) Reellold uAIA

ogedldlael “URAL ¢sHAT Al AU A5 sid ol Assl sami
w1y ?

(A) sead Hasll (B) wHmzln 2kl

(C) A el (D) Heloiduid

Alsaels s2di 3l AURIAL G2 digdldl [RIAH1 GR™E AU Yl
edl?

(A) 1.50 (B) 2.50

(C) 3.50 (D) 4.50

el islls YR 55 ollold HIZ Vidld SAML 2 97
(A) AHrAAL M2 YRUKS Sddl Guuial

(B) G2 (9491 & v Ugld

(C) YARIM & WA Utld

(D) et & v Ugld

“AARMRUAET HElSIUAL AYASR SI0L 97
(A) $HRWA (B) azduld
(C) dsrwid (D) u=ig
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024.

025.

026.
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028.

029.

Who founded the Calico museum of textile in Ahmedabad?
(A) Gautam Sarabhai (B) Vikram Sarabhai
(C) Mrunalini Sarabhai (D) Ansuyaben Sarabhai

At which place was Dayanand Saraswati born?
(A) Tankara (B) Mathura
(C) Kashi (D) Bhavnagar

Who has attained the place in the hearts of people as the pet name
“Dangni didi”?

(A) Ansuyaben Patel (B) Purnimaben Pakvasa

(C) Maniben Patel (D) Ratnaben Palas

Who was decided as the Prime Minister of “Aarzi Hakumat” of Junagadh?
(A) Kanaiyalal Munshi (B) Shamaldas Gandhi
(C) Ratubhai Adani (D) Mahobatkhan

Borsad Satyagrah took place in the protest of imposing how many
rupees per person as an additional tax?

(A) 1.50 (B) 2.50

(C) 3.50 (D) 4.50

Gangaba Yagnik Award is given for ...............

(A) use of traditional knowledge for social service

(B) special contribution in the filed of higher education
(C) special contribution in the field of health

(D) special contribution in the filed of literature

Who is the creator of the epic, “Narnarayanand”?
(A) Kumarpal (B) Vastupal
(C) Tejpal (D) Yashchandra
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030. Guzel clfol dg ovdl MRAdl «glulidl U 54 e s3U.
(A) «¥zl, andl, [s2ql, aueLl, sl
(B) awndl, «¥el, ouearl, [s2en, s192l
(C) «¥el, awdl, auearl, [s2en, s192l
(D) awdl, augacl, «Hel, [52e, s1921

NN

031, «ladl Usl sul HHURPUHL 051 044l HIL 97
(A) /4Rl (B) ¢onleiiol
(C) AR5l (D) siol2

032. [l <M 280 s egHi 2udg 97
(A) ®Rd (B) [
(C) Y. 2.l (D) #odes

033, lAdl Usl sl ARdlM add “ydd AU séam 97
(A) 222 (B) °ual
(C) Esloile (D) Geuyr

034. <Rl Ul sul e Gl sleolami »udal 97
(A) oAUl (B) wala

(C) dwa (D) 2

035. sui olareild YuRL Rl disueidl Yea 5 qudl ogdl 6 Qudl sami

gl edl?
(A) 40 Hi (B) 42 Hi
(C) 44 Wi (D) Guz<l U8l s185 <l

036. dlovall auria olladl usiel Y2 quriadl BUAR A B, i 1
Yleodl 14 g wu?
(A) 1 watt God 15 sdls HI2 AURIE
(B) 100 voltage ol 41adl God »l5 sdls HI2 QU
(C) 1 voltage £ol@l 41ddl God s sals W2 qurls
(D) 1000 watt GoA is sdls Hl2 AU
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032.

033.

034.

035.

036.

Select the true order of rivers of India while going from North to South.
(A) Narmada, Tapi, Krishna, Godavari, Kaveri
(B) Tapi, Narmada, Godavari, Krishna, Kaveri
(C) Narmada, Tapi, Godavari, Krishna, Kaveri
(D) Tapi, Godavari, Narmada, Krishna, Kaveri

In which of the following sanctuary is rhino seen?
(A) Jaldapara (B) Hajaribaug
(C) Sariska (D) Corbett

In which country is the place known as Greenwitch situated?
(A) India (B) Russia
(C) US.A. (D) England

Which of the following Indian cities is known as “Venice of the East”?
(A) Guntur (B) Goa
(C) Hyderabad (D) Udaipur

Which of the following country comes under torrid zone?
(A) Japan (B) Malaysia
(C) Nepal (D) Russia

Through which constitutional amendment was the tenure of Lok Sabha
changed from 5 years to 6 years.

(A) 40t (B) 42nd

(C) 44t (D) None of the above

Electricity consumption bill is based on units consumed. What is the
meaning of 1 unit?

(A) 1 watt energy is consumed in one hour.

(B) Energy having 100 voltage pressure is consumed for one hour.
(C) Energy having 1 voltage pressure is consumed for one hour.

(D) 1000 watt energy is consumed in one hour.
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037. ®RAML UYH HeldRRUESIAL 2audl sai 48 edl?
(A) HgalA (B) “AHEIAE
(C) Yo (D) slasTil

038. 2ovRldHi «ladl Usl s [orecumi HWoldloy Holl 204 97
(A) U™HeIA (B) ol sisl
(C) uorsiz (D) iRoigR

039. orRldsd s34 oig gadl Al ugH vl oigz aly 1998el s s3d WY

97
(A) Q&L (B) 5l
(C) edor (D) dlwaa

040. 345 #H.dl. dlovadidi diaz dloy Hasl GR1Ad, ARYISL SUH 2lorRidsdl 54l
[oreciui »udg 97
(A) 59 (B) 2wl
(C) Hé:uwl (D) otedlsist

041, GIRAMI [He2d AU sRUWIG 190441 sui &AL 20 ¢d?
(A) Hoi?) (B) sz
(C) orHleyR (D) Aeell?

042. «ladl Usl s [redipiiHl Heya o/oldl ddl 97
(A) 5289 b OAHAR (B) U 24 idl
(C) aqxs st dquicl (D) ARSI vl oldlA5151

043. AR [oredldl A€o GURId 2ASRUAHL SUl 2ied 2801 6relod disdlsdl
Gulal [Astd upal 97
(A) 5%dl, 5249 (B) uisdl, 529
(C) uAl, AHAOR (D) ARALS, 672
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038.
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040.

041.

042.

043.

Where was the first municipal corporation established in India?
(A) Madras (B) Ahmedabad
(C) Mumbai (D) Kolkata

In which of the following districts is Manganese found in Gujarat?
(A) Panchmabhal (B) Banaskantha
(C) Rajkot (D) Porbandar

Which port of Gujarat has started operating as the fist private port of
India since 19987

(A) Dholera (B) Kandla

(C) Dahej (D) Pipavav

Charanka, having solar power station with 345 MW power capacity, is
situated in which district of Gujarat?

(A) Kutch (B) Patan

(C) Mehsana (D) Banaskantha

Where was the first cement factory established in 1904 in India?
(A) Mumbai (B) Kanpur
(C) Jamshedpur (D) Chennai

In which of the following districts are Mangrove forests located?
(A) Kutch and Jamnagar (B) Surat and Dang
(C) Valsad and Navsari (D) Sabarkantha and Banaskantha

In addition to Alang of Bhavnagar district, where else has the industry
of ship breaking developed in Gujarat?

(A) Kandla - Kutch (B) Mandvi - Kutch

(C) Sachana - Jamnagar (D) Chorwad - Junagadh
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044. RUlodl Usrelel Hi2el 2801 “YRUIOAIR™ IorRldsdl sul [QdRHL oA4l

Hol 97
(A) ANARUR (B) duuagr
(C) uRied 21yl (D) 529

= Y =

045. Io/Rldedl sui [oveadimi Yl uzaRidl ldl W2l vidlMd ov2al widdl

97
(A) 529 (B) ot<lusisl
(C) AleRsisl (D) w12l

046. Hisasdl 2s3lviid Glumi Gl [wr s 97
(A) Breqar (B) £ldRr
(C) ddu (D) willal

047. qdzaldisfe vedloy sui GEPML AU 97
(A) A9l GEllRL (B) 215en Gelal
(C) G« GHll (D) Hiousd sl Gl

048. Al «gl sal 2ud oeRIdHl UdL 97
(A) Hiwsl a2 (B) eigaR
(C) -licie (D) 21514

049. sui A0 o diordl €18 AL 2Adl 97
(A) Bl (B) 2ozl

(C) 221 (D) AR

050. MRAdl axdlwisl 20114 tad ddl sdi Aseami wdllgaor Al aar

£ 7
(A) 9 (B) MaARIH
(C) [yl (D) ual
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045.
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047.

048.

049.

050.

At which place in Gujarat, the mating place for flamingoes, “Surkhabnagar”

IS seen?
(A) Nal Sarovar (B) Velavadar
(C) Pirotan islands (D) Kutch

In which district of Gujarat is the largest reserve of limestone located?
(A) Kutch (B) Banaskantha
(C) Sabarkantha (D) Patan

Which is the highest peak of Mandav hills?
(A) Girnar (B) Datar
(C) Taranga (D) Chatila

Woolastonite mineral is used in which industry?
(A) Utensils industry (B) Tiles industry
(C) Wool industry (D) Mobile phone industry

At which place does the river Tapi enter in Gujarat?
(A) Mokhadi Ghat (B) Hamfeshvar
(C) Nandod (D) Haranfal

At which place is the Shetrunji River project made?
(A) Miyani (B) Rajsthali

(C) Gomta (D) Adesar

Considering the census 2011, which state has the maximum female

literacy?
(A) Kerala (B) Mizorom
(C) Tripura (D) Goa
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051.

052.

053.

054.

055.

056.

Seq AsRel “CBlcHL AUlordl” 55 olold widiedl Ulovel 97
(A) 2uydles dRAR

(B) G3ud didly

(C) ovnAR A2l

(D) 251G sulasi

o odl Ry s sadl vididl wd wifaFus-201640 YagiRiss il
glfd HY ekl edl?

(A) dA8Réws (B) uizad

(C) 2ud (D) Gz

SrAlYR WA Y[sAuR Zviserd [AHI9L 529l U3 GIRA suL 22 W dHsydl
KRl 97

(A) orHsl (B) sl

(C) =l siKla (D) #oriud

Qi 2011-12 <l RER eud, ad 2015-16 Hi oorRiddl HiaiEls »uas
oo da¥ 2014-15 <l YURAL iglor«dl 2uvumelHl sedl 251 (%)
qlEa cald .

(A) 4.9% (B) 7.9%

(C) 14.9% (D) 16.9%

ool wlizedla iiud siddd HyHl Hleaiidl Fodu 2uaimi 2017 w0
501 Yslodl el ?

(A) 225l A (B) [Aqan (alauw=n
(C) Al [Alquw (D) PR si2

-~

MRddl da uzgHl Aidl 9y [AzdR aR1adl ugg sdl 97
(A) [eedl 2l usvaidl uga (B) €122l »id 2R 44l
(C) e 24 [dsior 21y»il (D) ugadl (uiglail)
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051.

052.

053.

054.

055.

056.

‘Atma Yojana’ of central govt. is pertaining to which scheme?
(A) Ayurvedic treatment

(B) Aviation Training

(C) Aquatic Research

(D) Sustainable agriculture development

P V Sindhu lost the gold medal match in Olympics—2016 against the
player of which country?

(A) Netherland (B) Portugal

(C) Spain (D) Urugvay

India has done MOU with which country to construct nuclear reactors
at Jaitapur?

(A) Germany (B) France

(C) South Korea (D) lsrael

At the stable rate of the year 2011-12, what is the growth percentage
(%) of per capita income of Gujarat in the year 2015-16 in comparison
to the modified estimates of the year 2014-15 at market rate?

(A) 4.9% (B) 7.9%

(C) 14.9% (D) 16.9%

Who won the competition of 2017 Tennis Australian open final match
of women singles?

(A) Steffi graph (B) Venus Williams

(C) Sarena Williams (D) Margaret Court

Which of the union terrotories of India occupies the maximum area?
(A) Delhi National Capital Region (B) Dadra and Nagar Haveli
(C) Andaman and Nicobar Islands (D) Pondicherry / Puducherry
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057.

058.

059.

060.

061.

062.

063.

N

slotd wEl-2016 Horol [QaHL el alamoll disidl a€ldi uaH a4

-~

sloL €97
(A) Siqles 23y (B) calledlz ydlq
(C) et Hiel (D) [o1a 324

MRddl ugH Herdlsigll Gouzadly ol Ulorse 58 AsUR &Rl U3
KAWL AL 97

(A) ¢Runal (B) iUz

(C) usnoet (D) Gz Mz

wis oy 20l [Qad el [Qaa diar wer Wiz S1ad a0 s 97
(A) HeRMHL 24s2] (B) HEruzaHi «lHA
(C) difHasigHi 514l (D) 2Lo/R1AHi A5l

“og dladert 37 siedl oreMlEan HelddAHl A 97
(A) 1 ul o vogd sAM (B) =24 [a1eikl asrwisd
(C) dld olelgr Ul (D) [a<icn ®ud

vie2lf2s1dl 36 Hi MRl Asils 2A[Muq (Indian Scientific Expedition)
(36-ISEA) <l Hvu/Bls [dzdr sul 97

(A) ARl 51 (B) Sruidddl A®UIY
(C) »ilddledl A*UA (D) &R udea

iedlaidl 2zildl s sior eai?
(A) 2128 /iR (B) [aui«
(C) oreld wiesad (D) <4 ©. Ics

w1, 2l olasld UL sl sEl dRelaReM laldl dsiR i daiHi
il edl?

(A) olivol des 39y 51$,1879

(B) tl Griz Uy oA (W 28) »ls2, 1965

(C) ool dvs 2edld 252, 1965

(D) 4l Guz uea orMldzikl wiolidlad 2d des JgiHA 212, 1963
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057.

058.

059.

060.

061.

062.

063.

Who is first in the Forbs list 2016 of the most powerful people in the

world?
(A) Donald Trump (B) Vladimir Putin
(C) Narendra Modi (D) Bill Gates

By which state government has been India’s first amphibious bus project

launched?
(A) Haryana (B) Andhra Pradesh
(C) Punjab (D) Uttar Pradesh

Which is the place having world’s largest solar power plant at a single
location?

(A) Sakri in Maharashtra (B) Neemuch in Madhya Pradesh
(C) Kamuthi in Tamil Nadu (D) Charanka in Gujarat

On whose birthday is the “Good Governance Day” observed?
(A) A P J Abdul Kalam (B) Atal Bihari Vajpayee
(C) Lal Bahadur Shastri (D) Vinoba Bhave

What is the thrust area of the 36th Indian Scientific Expedition to
Antarctica (36—-I1SEA)?

(A) Climate change (B) Study of land sliding

(C) Study of fossils (D) Land Survey

Who invented polio vaccine?
(A) Edward Jenner (B) Leon
(C) John Enders (D) Jonal E Salk

In I. C. Golaknath case, the dispute of which Act being unconstitutional
was taken in view?

(A) Bombay Land Revenue Code, 1879

(B) The Uttar Pradesh Sugarcane (Purchase Tax) Act, 1965

(C) Punjab Land Tenures Act, 1965

(D) The Uttar Pradesh Zamindar Abolition and Land Reforms Act, 1963
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064. Indian Independence Act sidl &Rl AR SAML 2l ¢di?
(A) [@2la e (B) disu™il
(C) AlsUML 2id UsHUML (D) RUsAARIL

065. <l Usl s Al 2l ugwQl R 97
(A) si4zdl (B) Slna
(C) HRizilq (D) elgior«l

066. 2d<l adsaidl Aslds sol [dAs1q W2 AMer YU sicdl [42ad wad
Al AUsed WSR Alsa vioreddl aly sidl [Angls a4 97
(A) GUDM (B) «rullast [qums
(C) GMFB (D) GUDC

067. orRld RUsededl «wRUIASIAML 2qYRIA oredoaladl AUl HI2 524l 251
olgsl ViedlMd AVAUHL 204 97
(A) 7%
(B) 14%
(C) wrulast [Bzaryi d oaladl azdldl 2siail svedl.
(D) 10%

068. “‘Aidl” dloyell S50 ARPSAL H9AAXA [AzaArHlL 3edl dls wsu gii
Wl ugiugdld wtdlo 97
(A) 1 (B) 2
(C) 3 (D) 4

069. «ldl Usl s gl UM dd sdiRiUee AqoHT QR 97
(A) AR 2USAITS Bl 2RA4 (B) AISH R 24 [duid
(C) Hsyil AU wid BRI (D) Hsyls »lislsls »id [

070. Q49 91U 9Ud [Maw 97
(A) slold HidlsUDS i slold SIASAULDS
(B) c¥et »id UlUA
(C) Mad wd Slaldd
(D) slofd SlAlsASS i w2074
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064.

065.

066.

067.

068.

069.

070.

By whom was the Indian Independence Act passed?
(A) British Parliament (B) Lok Sabha
(C) Lok Sabha and Rajya Sabha (D) Rajya Sabha

Which of the following causes minimum pollution?
(A) Coal (B) Diesel
(C) Kerosene (D) Hydrogen

Which agency has been appointed as a nodal agency by the state
government for the implementation of the direction of Hon. Supreme
Court for the scientific disposal of municipal solid waste?

(A) GUDM (B) Director of Municipalities

(C) GMFB (D) GUDC

How many percentage of the seats are reserved in municipalities of
Gujarat for the members belonging to the scheduled tribes?

(A) 7%

(B) 14%

(C) Percentage equal to their percentage of population of municipal area
(D) 10%

Through how many Link Pipes the supply of water to the scarcity-hit
areas of Saurashtra has been planned under “SAVNI” scheme?

(A) 1 (B) 2

€ 3 (D) 4

Which of the following substances are most commonly used in fluorescent
tubes?

(A) Sodium oxide and argon (B) Sodium vapour and neon

(C) Mercury vapour and argon (D) Mercuric oxide and neon

Cooking gas is mixture of ..............

(A) Carbon Monoxide and Carbon Dioxide
(B) Butane and Propane

(C) Methane and Ethylene

(D) Carbon Dioxide and Oxygen
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071.

072.

073.

074.

075.

076.

077.

(A) 6 52 (B) 6 Hle:
(C) 60 g2 (D) 100 .4l

2l wasAldl dbd Ul 2starl or.zdlell. (JCB), d cdiadl Sueldl
YS9, AU M g 97

(A) oreld (522152 olldidalee, (B) odxs [Ra ouwsié

(C) ovsld [s2212 olae (D) o5 slsuslé ols2

eeudl AURAR HEZ auRldl “Un-u” «dl alg siel s edl?

(A) Sl ol AlAd (B) sl. wilw sledlw

(C) Sl Retd sl (D) $l. uid A4

dlsUMHl €ld YqyRIa oald vt 24yRa srd-oald H2 5d s2dl olssl
ielHd, AVAUHL Ul 97

(A) 109 (B) 119

(C) 129 (D) 131

S5 RSl ua eseel Asvsle s als Wieddl Hoddl LAl 211
524l RAsallHl HIddl Hodd gldl oasul?
(A) 3 (B) 4
€) 5 (D) 6

42 4L iRyl yuRrL (1976) @l clarbldl 2uHuHl YuRrl s34 GHRAIM
VI 5,

(A) dlsdsd oA 2 oiydledl wiagl

(B) [Bar, »il¢Heulsd, Hieudl, 4 2d Guidldl 2adadl

(C) €rowqdl UIAl

(D) r2ell isAl 2Ad 2ivilsadl

sz Hizdl “wudul Al wMied Ad ddl addl gl 97
(A) i (B) [Rlasiq
(C) diey (D) i
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071.

072.

073.

074.

075.

076.

077.

One fathom = .................
(A) 6 feet (B) 6 meters
(C) 60 feet (D) 100 cm

The initials JCB on earth moving equipment are those of the founder
of the company that makes it. What is his name?

(A) John Christopher Ballantyne  (B) Joseph Cyril Bamford

(C) John Christopher Baxter (D) Jack Croxford Baker

Who invented “Pacemaker” used in heart treatment?
(A) Dr. John Satre (B) Dr. Maria Philips
(C) Dr. Robert Dias (D) Dr. Pol Zhol

How many seats are reserved for scheduled castes and scheduled tribes
in Loksabha at present?

(A) 109 (B) 119

(C) 129 (D) 131

To be recognised as a National Party, a political party must be recognised

in at least .............. states.
(A) 3 (B) 4
(C) 5 (D) 6

By 42" constitutional amendment (1976), the Preamble of the constitution
was amended to insert, ..............

(A) Assurance of individual dignity and fraternity

(B) Liberty of thought, expression, belief and religion

(C) Equality of status

(D) Unity and integrity of the Nation

IC chips for computers are usually made of ...............
(A) Lead (B) Silicon
(C) Copper (D) Gold
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078.

079.

080.

081.

082.

083.

084.

[Meiral Meat Suui wdiR™ viEdd gkl 42 41 oiareild yaridl 55 sau
AROIURYIY 0462 s 2ud] ?

(A) 42 (B) 55

(C) 44 (D) 46

Asedl A2l AsR Ul veldadl 59 ¢sHd dsn wud 97
(A) 2uldla ¢5Hd (B) YA e54d
(C) Hdlesl ¢5HA (D) <2 e5Hd

AlSUMIHL VMGl Had g 56 97
(A) [Qelis Ha (B) tald Hd

(C) =4l HA (D) USSRl HA

[QatPI-1X HL R (49 s3dl oAdasi»il sid dip ug 97

(A) Usll (B) Usidl st SegllAd vzl
(C) Semaulad Meal (D) GuRisd »isuel «[é
wefMs Yasis [[Azdryi azdlui uam 54 9R1ad 262 i l

Qclldl 2l 9.

(A) oflod 54 t19d wé

(B) cisl 2edl ad<l azdl

(C) cusl 2eédl auiedidl s
(D) el lul s 4Riad wdR

dUE UoAdl deCHl AuRldl wog “sine die” Al wid g 97
(A) 2RI554 Hed HI2 dA Higgl

(B) uA uHIltd

(C) Ux olldlag

(D) A [auord

ARl oisHl sFRSAUd il uMld (1988)dl »1tu8 s191L ¢dl?
(A) 2l. 2id. 21, B (B) <i. . dRrIov<

-~

(C) dlndl <2 (D) 2. 5. ued
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078.

079.

080.

081.

082.

083.

084.

In Minerva Mills case which section of 42" constitution amendment
was declared unconstitutional by Supreme Court?

(A) 42 (B) 55

(C) 44 (D) 46

Under which jurisdiction of the supreme court of India would the
disputes between states come?

(A) Appellate Jurisdiction (B) Original Jurisdiction

(C) Advisory Jurisdiction (D) Writ Jurisdiction

What is the Speaker’s vote in Loksabha called?
(A) Casting Vote (B) Sound \ote
(C) Direct Vote (D) Indirect Vote

To whom are the provisions of Panchayat of Part — IX of the constitution

applicable?
(A) States (B) States and Union Territories
(C) Union Territorities (D) None of the above

The Primary Index is the ratio between the population of first ranking
city of the region and ..............

(A) the second ranking city

(B) the rest of the urban population

(C) the rest of the total population of settlements

(D) the lowest ranking city

What is the meaning of the word “sine die” in reference to the Parliament
session?

(A) Adjournment of session for an indefinite period

(B) Prorogation of session

(C) Summoning of session

(D) Dissolution of session

Who was the chairman of committee on computerisation in Banks

(1988)?
(A) T.N.A. lyer (B) Dr. C. Rangarajan
(C) Smt. Shere (D) I. K. Patel
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085. Slvsd udSdl wimdiedl szl [amels, AMladl sameEl eeula 52
9. wil AMAdl vitua Ay stor gl 97
(A) wveuld
(B) AcHol
(C) uA-sl
(D) disuCildl (AR08 gl «ddl

086. AARA MEldd GIRA UR5R 2l 25 5 4Y RUsedl 94l [Qaie A«ud]
a5 9. 2 addl 585 e séam?
(A) Hilas ¢sHA (B) udlesitl ¢5Ha
(C) »iuldlu ¢5Ha (D) GuRisd »isual «[é

087. As GU2 oAdl Hudl MICR Code <« »lvi =a3u g 97
(A) Micro ink character recognition
(B) Magnetic ink credit registration
(C) Magnetic ink character recognition
(D) Micro ink credit registration

088. oitRYl »iddld (g€l [t 4R1ad, st s 97

(A) UAr241d (B) ulam cioua
(C) ddaueu (D) »iilsau
089, G{RAsl ACRIHL HYHHUHL HVUA ..., clu 9,

(A) Ul SIS

(B) slold Hiddlsu15S

(C) feiova 2AsAISE B €6 QUL PReAL SlS5GIS100
(D) ovseila ug1al

090. ®Rcdl AUl 1292 101 <l oAvLAlT>Il UHIGL 04 Al SlHUSL
Yol U, Yool 206l WAl dlar Ram sedi [Eau dedl dwm
olssiHL AR6lvR 3¢, dl 2¢ dsdl olgs vudl ondz sl wy?

(A) 30 [ean (B) 60 [ean
(C) 90 [zax (D) 120 [za
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085.

086.

087.

088.

089.

090.

Appointment of Central Vigilance Commissioners shall be made by the
President on the recommendation of a committee. Who shall be the
chairperson of this committee?

(A) President

(B) Minister of Home Affairs

(C) Prime Minister

(D) Leader of the opposition in the House of the people.

Supreme Court can hear the dispute between the Government of India
and one and more states. Which is this jurisdiction called?

(A) Original Jurisdiction (B) Advisory Jurisdiction

(C) Appellate Jurisdiction (D) None of the above

What is the full form of MICR Code seen on the cheque?
(A) Micro ink character recognition

(B) Magnetic ink credit registration

(C) Magnetic ink character recognition

(D) Micro ink credit registration

Under the constitution, the legislature of which state is Bicameral?
(A) Rajasthan (B) West Bengal
(C) Telangana (D) Odisha

The smog in Indian cities mainly consists of ..............
(A) Oxides of sulphur

(B) Carbon Monoxide

(C) Nitrogen oxides and unburnt hydrocarbons

(D) Suspended particulate matter

Under the provisions of article 101, for a period of how many days,
if a member of either House of Parliament remains absent from all
meetings without permission of the House, the House may declare his
seat vacant?

(A) 30 days (B) 60 days

(C) 90 days (D) 120 days
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091.

092.

093.

094.

095.

096.

Ao RIAHL UADl RY[uH sui 2dg 97
(A) 225k Sen wadl, wug1AlE

(B) sdlsl wyfoud, »AHglAIE

(C) dleud ¥y[RruH, 2Usrsiz

(D) ¥RER u2d ¥Y[PFuH, Yd

ASERL WA HERINA AU gkl 1886 Hi 2dlld-sidoredl 24iudl sl
pdl el uYH 2R S Sdi?

(A) Wl @Rl (B) Gl Hidl ©i8

(C) #ellud vl (D) GRdle 3R il

AU gy R ol 2id 24yRIa oraoalad el sa1 oiaRRIM YaRiEl
AU viqyRd oald ol vid AU viqyRIA ovdoald sl a3l
2§ 9y ?

(A) 97 HI olarelly yuRl-2011

(B) 44 Hi olarlld yuRI-1978

(C) 42 HI olaruil yuRI-1976

(D) 89 Hi oiarily yuIRI-2003

Bl AlaHD 5 UEld ¢lu 97

(A) A5l (B) »liHal
(C) Rl (D) wAeslkld

Hies Ul 2d ugiEidl Guadl Wl uldoid »i ...

(A) 214292 21 widdld s [Re4AL lsadl Hasd 21E51R 9.
(B) v4298 S1 A(d) »iddld «dIRsdl yaed o0 9.

(C) 2142695 17 iddld «IRs [At8l RUsrudl HAYd A[As12 9.
(D) 2142695 47 i »uilare Hpledsl Usldl 215 9.

Aoredlladl 241 Hpleds [ttid 21 dPiRsdl Yasd sgor gl .

(A) GaldAl adlacHi smeRidl 2uHaol]

(B) U3y id wdlvlld uHld S1H HIZ UHIA dded

(C) WulaRyld, 2881l 2id YURRL, 6214 dHsy At 2didl UaMdld 2801

(D) uHor<ll @ilas teazmAldl Hilasl sid [ [Qael d d w
5 odl dls [ea bl asi.
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091. Where is the kite museum situated in Gujarat?
(A) Sanskar Kendra, Paldi, Ahmedabad
(B) Calico Museum, Ahmedabad
(C) Watson Museum, Rajkot
(D) Sardar Patel Museum, Surat

092. In 1886 Maharaja Sayajirao established music college at Vadodara. Who
was its first principal?
(A) Pandit Bhaskarbuwa (B) Ustad Maula Baksh
(C) Inayat Khan (D) Ustad Faiyaz Khan

093. By which constitutional amendment was National Commission for
scheduled castes and scheduled Tribes was seperated as National
Commission for scheduled castes and National Commission for Scheduled
Tribes?

(A) 97t Constitution Amendment - 2011

(B) 44th Constitutional Amendment - 1978
(C) 42nd Constitutional Amendment - 1976
(D) 89th Constitutional Amendment - 2003

094. Which protein is there in human hair?
(A) Secretin (B) Omega
(C) Keratin (D) Ankyrin

095. The prohibition of consumption of intoxicating drinks and drugs is a
(A) Fundamental Right under article 21 of the individual against the
state
(B) Fundamental Duty of the Citizen Under Article 51A(d)
(C) Fundamental Right of the state against Citizens Under Article 17
(D) One of the Directives Contained in Article 47.

096. This Directive Principle of State Policy is also a Fundamental Duty on

the part of citizens.

(A) Participation of workers in the management of industries

(B) Equal pay for equal work for both men and women.

(C) Protection and improvement of environment, safeguarding of forests
and wild life.

(D) Distribution of ownership and control of material resources of the
community to subserve common good.
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097.

098.

099.

100.

101.

102.

103.

“lég alfa =7 »2a ¢7?

(A) 1991 uddidl @RAl4 2iEdadl violsy «dldl 9 €2
(B) 5185 »is dzdloyadl 2uasdl qEa €2

(C) MRl 2ddadl allls 9 €2 oruR 6% dl Ay €l
(D) Guzl gl 8185 «ld.

74 HL YURL AlAuHAL dd A d5 sul/sal 97

1. Acdl 24 ovaoteild [A5eglsze

2. olarnild eeor<dl odoras

3. s wdl wsRIA Ay w3 W«

4. dlgsl 24 odisd A UB R

(A) 554 (1) 214 (2) (B) 55 (3) id (4)

() & (1), (2) =14 (3) (D) &t (2), (3) i (4)

Ul Bl dlovdl €50 Rs. 9 diut Yldl diddl iy Guz seal
251 wodll vl »ud 97

(A) 6.5% (B) 4%

(C) 3% (D) 2%

dlslysa UL gkl ¢ld aEd sRuedl dum i Yeoure;
(A) 3 Hleaami yol adl sdd»i  (B) 12 Hleumi yol adl ode»i
(C) 6 wleami ol audl oAt (D) 9 wleami Yol adl il

4 : 15, 5 : 26, 6 : 35, T : ... ?

(A) 48 (B) 47

(C) 50 (D) 51

64 CAT = 24 ¢4 »id DOG = 26 ¢4 di PIG = ............ 2
(A) 32 (B) 25

(C) 29 (D) 34

60 5 x 3 =025 d 6 x 7 = 4936 €14 dl 9 X 8 = .......... 2
(A) 8164 (B) 6481

(C) 7272 (D) 2727
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097.

098.

099.

100.

101.

102.

103.

What is known as the “Hindu Growth rate”?

(A) The low growth rate of Indian economy prior to 1991

(B) The growth rate of income of a particular segment of population
(C) Annual growth rate of Indian economy when it is higher than 6%
(D) None of the above

What is/are the intention and rationale behind the 741" Amendment Act?
(A) Decentralisation of power and responsibility

(B) Provision of constitutional status

(C) Better governance of urban local governments

(D) Better governance of taluka and blocks

(A) (1) and (2) only (B) (3) and (4) only
(©) (1), (2) and (3) only (D) (2), (3) and (4) only

How many percentage subsidy is given on the interest on loan upto
Rs.9 lakhs under the Pradhan Mantri Awas Yojana?

(A) 6.5% (B) 4%

(C) 3% (D) 2%

Investigation or inquiry undertaken by Lokayukta Aayog shall be
completed;

(A) within a period of 3 months (B) within a period of 12 months
(C) within a period of 6 months (D) within a period of 9 months

4 :15 5:26,6 :35 7 e ?

(A) 48 (B) 47

(€) 50 (D) 51

If CAT = 24 and DOG = 26, then PIG = ... ?

(A) 32 (B) 25

©€) 29 (D) 34

If 5 x 3 =925 and 6 x 7 = 4936, then 9 x 8 = ............ ?
(A) 8164 (B) 6481

(C) 7272 (D) 2727

AWS-A] [31] [P.T.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


104.

105.

106.

107.

108.

109.

110.

Yol wd [Ucledl GHRAL ol 48 ad ©. 12 ad ugl [uaudl GwR
Yoaell GHR sl augll =g, dl eld yadl GwR sedl 97

(A) 14 (B) 12

(C) 16 (D) 18

A Bod Cdl Hdl 9, D, Cl uld 9. di A Dl g aa?
(A) orHIE (B) Hldl

(C) “y (D) ARl

oA ATsIAAL Al [29d A3AR ¢l dl [AAR R 29?

(A) 157 (B) wH [cax
(C) ALs14 (D) s14

JAZ, LEX, NIV, PMT, .......... ?

(A) RUS (B) QUR

(C) SUR (D) RQR

uis lsdd 215 ddd 31 480 HI AU sl 20% dsUd oAU 9. oA
Agl 20% «sl sdl ¢l dl d 9xdd 59 Bud dm sa?
(A) 600 (B) 700

(C) 620 (D) 720

4 9l 84 923 294l 4 a3 [«:gy @Rl s ddl Avaiztid Ga2l sHHI
qaRdl 29l olusAdHl U dl THL sH 58 dvul ¢9?

(A) 56 (B) 64

(C) 68 (D) 60

Y I Voo 27 Y wg YL Y wed X7
“x7 wled 47 g dl, 12-4xT7+8+5= ... ?

(A) 51 (B) 45

(C) 64 (D) »isugl «lé
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104.

105.

106.

107.

108.

109.

110.

The sum of the ages of a son and father is 48 years. The age of father
will be 2 times the age of son. What is the current age of son?

(A 14 (B) 12

(C) 16 (D) 18

A is the mother of B and C, D is the husband of C, then what is A
to D?

(A) Son-in-law (B) Mother

(C) Mother-in-law (D) Father-in-law

If the day before yesterday was Thursday, when will be Sunday?

(A) Today (B) Day after tomorrow
(C) Yesterday (D) Tomorrow

JAZ, LEX, NIV, PMT, ..., ?

(A) RUS (B) QUR

(€) SUR (D) RQR

A person faces loss of 20% selling an article for Rs. 480. At what
price should he sell if he wants to make a profit of 20%

(A) 600 (B) 700

(C) 620 (D) 720

If the numbers between 4 and 84 which are fully divisible by 4 are
arranged in descending order which would be the 7th number?

(A) 56 (B) 64

(C) 68 (D) 60

If e, O ST S [T VST s X)X s Y+ then,
12 -4 x7+8+5= ... ?

(A) 51 (B) 45

(C) 64 (D) None of the above
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111.

112.

113.

114.

115.

116.

117.

oA AABC Hi /B slvjull ¢, AB = 12 &4l du Bislod asga 30

Al AHl sl dl Rsiadl R sedl ua?

(A) 30 | (B) 40 wdl
(C) 27 =l (D) 60 =l
10, 5, 13, 10, 16, 20, 19, ........ ?

(A) 30 (B) 40

(C) 38 (D) 23

s adadl Bleall 15 dal dd 5« Q 8. P » adudl oer 149
124l

[g 9. P Hidl adad <ikdl zuds adad T [loigul 2ud 8. od

PT =8 ¢l dl QP = .......... ?
(A) 13 (B) 23
(C) 17 (D) 27

w5 doiRd wiedl doils) dddl uglas s2dl A9 ol 9. o4 d wied
doagor 7803 AL Hl € dl d wiedl uglons ozedl ugious 4uadl
oflod ARYU dled EAsul soq 2d?

(A) 2801 =i. Hl (B) 2601 =i. Hl.

(C) 2701 =i. Hl (D) 2901 =i. Hl

ol il 25 ud 2269 Ad vimAmi A 9. 21 U Rod udg
(2101, Gl vtEal M) cladl benadl sedl?

A 5 B) &
© 5 (D) 5

Al Usl 2 Aaulas 2R #l?
(A) »isdaR (B) »ionR
(C) o¢<ld13 (D) 4gl

MRddAl ugd swel wAasEl <y sid Ml pua 97
(A) “alRA 2gldddl YoueddHld  (B) vzl oreidt
(C) weula (D) begiedl SAEIHAL
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111.

112.

113.

114.

115.

116.

117.

If in A ABC, Z B is a right angle, AB = 12 cm and the area of
triangle is 30 sg. cm, What would be the perimeter of the triangle?

(A) 30 cm (B) 40 cm
€) 27 cm (D) 60 cm
10, 5, 13, 10, 16, 20 19, ..o ?

(A) 30 (B) 40

(C) 38 (D) 23

The circle with center Q has radius of 5. P is a point outside the circle.
The tangent drawn from P touches the circle at point T. If PT = 8§,

(A) 13 (B) 23
©) 17 (D) 27

The length of a rectangle plot is three times its breadth. If the area
of the plot is 7803 sg. mt. What would be the area of another square
plot having the same breadth of the rectangle plot?
(A) 2801 sq mt. (B) 2601 sq mt.
(C) 2701 sg mt. (D) 2901 sq mt.

A card is drawn randomly from 52 cards. What is the probability of
this card being a picture card? (King, Queen, or Jack)

1 2
A 13 (B) 13

3 4
© 13 D) 13
Which of the following is not a statutory town?

(A) Ankaleshwar (B) Anjar
(C) Junagadh (D) Mundra

Who is considered as the first law officer of India?
(A) Chief Justice of supreme court (B) Attorney General
(C) President (D) Union Law Minister
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118. ¢l [As1d 2t wulaRQl 52gR Al ARl [Qaudl/yiar ud dl.
1. 2édl uRagd 214 CO, Geus/e
2. ay spdam Hsid uskidl Glod o
3. “siold Yles” ads adidl savavil
4. orHlddl Mg Gualdl, 285191 24 2UorouRl Guzdl Ul si/su1 (At /<l
A1/l 97
(A) 5d 1, 3 24 4 (B) 5d 2, 3 w4 4
(C) 54 1, 2 »id 3 D)1, 2, 3 »d 4

119, azdlwistl 2011 »iquiR «dladr Usl s a6l oga g2dl ordl UMM
Qcld 52 culd 97
(A) RU6r512, MIAAIR, OAHAR, Vi ¢RI
(B) OAHAR, of<ld3, RUAKSIZ Vi HIAAR
(C) QUAAPR, RASYS2, (<RI Vi OAHALR
(D) RA6¢512, OAHAAR, KA Vi ¢RI

120. «laidl UGl sul oorria wrsiReAl w6 (A5 skisy «dl?
(A) NERUDP
(B) BRTS
(C) e wH[Ea Aoy«
(D) el Al 2a29d1 [Had

121, Ruorsivle viaHial 2iordl ysavll ole s2di ousl edl wigd g s¢ 97
(A) Rorsl WL (B) walds vu=r
(C) Héydl wia (D) wicloruslly v

122, RddM2l (Rusrald), 3o (s9l2s), saussi (dAlHadly) @d «RiL
(GriRuge) 92 o A 97
(A) d UHIYL Godedl Seml 9.

(B) d ¢4 GUKRQUAL Geuled Senl .

(C) d AR Goddl $eml 9.
(D) d ax?l WAl Geuled Sesl 6.
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118. Consider the following statements / evidences of urban development and
climate change:
(1) Urban transport and CO, emission
(2) Energy savings from more efficient building types.
(3) Preserving forests as carbon sinks.
(4) Mix of land uses, residence and employment.
Which of the above statement/s is / are correct?
(A) 1, 2 and 4 only (B) 2, 3 and 4 only
(©) 1, 2 and 3 only (D) 1, 2, 3 and 4 only

119. Which of the following group of cities show the descending order of
population size as per 2011 census?
(A) Rajkot, Bhavnagar, Jamnagar and Junagadh
(B) Jamnagar, Junagadh, Rajkot and Bhavnagar
(C) Bhavnagar, Rajkot Junagadh and Jamnagar
(D) Rajkot, Jamnagar, Bhavnagar and Junagadh

120. Which of the following Urban Development Programmes is not of the
government of Gujarat?
(A) NERUDP
(B) BRTS
(C) Garib Samruddhi Yojana
(D) Mahatma Gandhi Swachhata Mission

121. The deficit obtained after deducting interest payments is called ..............
(A) Fiscal deficit (B) Primary deficit
(C) Revenue deficit (D) Budgetary deficit

122. What is common for Ravatbhata (Rajasthan), Kaiga (Karnataka),
Kalapakkam (Tamil Nadu) and Narora (Uttar Pradesh) ?
(A) They are atomic energy power stations
(B) They are railway accessories manufacturing centres.
(C) They are centres of solar energy.
(D) They are centres of military equipments manufacturing.
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123.

124.

125.

126.

127.

128.

129.

Y Md 22d 5 dduld @Al oM siddl vl siasd 9 sé 97
(A) adlds Al wuas (B) 54 |4 gl
(C) <eusla sl »ias (D) 94 2lidRs Ui

culddl Yoy, AL 5 cleel uredl R Al 5 ved sl SRQIR
widl gdd clgel eRAl Hiedl 2wl sedl unudnoumi wdl oA ?

(A) orl il gl 9 g

(B) oraul vl wuidi 12 HleAmi

(C) oraql wiiedl gl 3 e

(D) vl vl gl 6 S

AR wl1Asedl QQUAZIHE URSRAL SAL WAL Ul 8l ?
(A) Geulead (B) oizcll ysauil
(C) alMsiq, dad (D) @R&l w3y

ausly av 2017-18 w2 dla w2 3. 5,00,000 &l 3. 10,00,000 -l
VUASARL AR HI2 S2dl 251 AU YAAAUHL Al 97

(A) 10% (B) 15%

(C) 20% (D) 25%

ol 5 Ay sl RA 2oy A vedasdl audl Al dedl sidl w

-~

8.

(A) «g (B) 2uveuld
(C) udRA wigldd (D) disu®il

wedl Sudl ARaHl uldid RS AUSOL 52 i 25 s Gouled vied
QUYL 52 dl 2l Y8l Asd g sé 97

(A) FlI (B) FDI

(C) (A) »id (B) oid (D) Guzl sl 8185 «lé

o AU BUASA Ul YAl MUd wled 5 [RUR Gud oAl i ded
S usRedl wlas 58 97

(A) <eusla »1as (B) adlas »i4as

(C) WaEly »uas (D) Guz<l sl 8165 «le
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123.

124.

125.

126.

127.

128.

129.

What is the national income measured at current price called?
(A) Real National Income (B) Gross National Product
(C) Monetary National Income (D) Net Domestic Product

Within what period an election to fill a vacancy in the office of president
of India occuring by reason of his death, resignation or removal shall
be held?

(A) 9 months from the date of vacancy

(B) 12 months from the date of vacancy

(C) 3 months from the date of vacancy

(D) 6 months from the date of vacancy

Which expenditure of government are not considered in national income?
(A) Production (B) Transfer payment
(C) Wages of labourers (D) Defence expenditure

How many percentage income-tax for individual has been proposed for
the income tax slab of Rs. 500,000 to Rs. 10,00,000 for the financial
year 2017-18?

(A) 10% (B) 15%

(C) 20% (D) 25%

Which authority has the power to establish a common high court for
two or more states?

(A) Parliament (B) President

(C) Supreme court (D) House of people

When foreign company invests its capital in India and produces and
sells at local level, what is such capital investment known as?

(A FlI (B) FDI

(C) Both (A) and (B) (D) None of the above

What is the national income measured at base-year on fixed price called?
(A) Monetary income (B) Real income
(C) Per capita income (D) None of the above
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130. e AR, ViE/UA ... gl 99
(A) <eusla <dlladr [aetaidl (s
(B) orsiliu «dllaal [otaidl (e
(C) b «dlladl (e
(D) GURel AHIM

131, vzl [assl gelldl sui [qugls sami »udl 87
(A) A5 ABIHL Y 2lU DAL 201K
(B) MIRAHL YU Al BFolAR
(C) Yool HI GMRAdAl {FoldR
(D) s ABIHI HRAAL 2¥olAR

132. <Al U5l 59 oddl uRll Zld eAsid «l?

(A) »pRld Hadl a0l = [Eadl ouodivi waieadl 2124100
SIUEIDAAL UL UMD Al 69,

(B) udiddidl wifsRui > gerdl ddl Rathididl amida 2 9.
(C) culsaad zadaAdimi = ad Bdldl A5RAL dHED Gl 9.

(D) 42uss 214 2R2s519d > a«dl uweolldl ariuHdldl Adis
AW 280l 2[As1Ru1 Adldl dHsy ddl HRsA oA $24ll
w5 AHlae 9.

133, sl AR [AzdRQl saldl vl g A ?
(A) o dlsail 5 Ul 2 GRAUEL 9 Uid 2100 8 dulidl 52 HIuIHI
AHIGY SRl
(B) s+l 22 44RAl
(C) ddl USRAl »ids 52 €lUd R4l
(D) GURl dHIH

134, ooRldd s 240 Huacd 28lsdl 429 w2 oawild ed?
(A) AR (B) »ionR
(C) vidld (D) usrsi2
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130. The budget of central government reflects ..............
(A) Direction of monetary policy initiatives
(B) Direction of fiscal policy initiatives
(C) Direction of industrial policy
(D) All of the above

131. Recently where has Nikki Haley been appointed?
(A) U.S.A. ambassador in U.N.
(B) U.S.A. ambassador in India
(C) Indian ambassador to U.S.A.
(D) Indian ambassador in U.N.

132.  Which of the following pair is not correctly matched?

(A) Protection available to — Protection against ex post facto
accused persons includes laws in civil matters

(B) Right to equality includes — Principles of Natural Justice

(C) Right to personal liberty — Right to livelihood
includes

(D) Protection against arrest — Right to consult and to be defended
and detention includes by lawyer of one’s own choice

133. What is meant by expansion of tax-base?
(A) Including such individuals and business in the tax ambit who are
eligible to pay taxes but are avoiding.
(B) Increase the tax rates
(C) Introduce many new types of taxes
(D) All of the above

134. Which place of Gujarat was known for agate ornaments?
(A) Bhavnagar (B) Anjar
(©) Khambhat (D) Rajkot
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135. GRd«dl uam 2ed ylaaRiZ]l sui 2dMi Al 21997
(A) U2d (B) aslexl
(C) Hoe) (D) Al

136. 1A U5l 55 zuldl awlasar «4l?
(A) Guuelldl 4d .
(B) [Ayd uHIgHL Guaod ¢ldl oddfal.
(C) zure »ildca 9.
(D) [AlaMu sl uaH 9.

137. [Gud 214 uidl 92”0 3qi doly 97
(A) aed (B) 4z
(C) UMl (D) 9=

138, GRdHl sul sidsudl cRaoll sifeadl uzpia wd?
(A) 44 Gusy Huddi [GraRelidl sriswal
(B) wslaa wla [asu sidswyl
(C) Lead Bank (Huvu ois) 2slu el
(D) Guzedl Usl s Al

139, 7441 YURL lAfud 2ed sal A sliavi 97
(A) H2iuidled vAafauu
(B) amudid »ilalaun
(C) »Uals Alstsds [ar »ilafquu
(D) «wrulds w(Efaan

140. opicfovadl agy Guuldledl cilsis vl 1A Usldl 585 97
(i) &l quidlg 1A ovg
(ii) «leedl wien aadl.
(i) iRl WAL aydl.
(iv) elldsiRs aRid uHgL 98g

(A) WA (i) 24 (i) (B) WA (i) 24 (iii)
(C) WA (i), (iii) 2 (iv) (D) atusy (i), (i), (iii) 24 (iv)
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135.

136.

137.

138.

139.

140.

India’s first railway university will be set up in which city?
(A) Surat (B) Vadodara
(C) Mumbai (D) Chennai

Which of the following is not a characteristic of wealth?
(A) Possesses usefulness

(B) Should be available in abundance

(C) Has an explicit existence

(D) Is capable of being exchanged

What is the relationship between price and demand?
(A) Positive (B) Inverse
(C) Equal (D) Zero

With which programme did the Green Revolution begin in India?
(A) The high yielding variety programme

(B) The Integrated rural development programme

(C) Lead Bank scheme

(D) None of the above

74th Amendment Act is also known as .............
(A) Metropolitan Act

(B) Gram Panchayat Act

(C) Industrial Notified Area Act

(D) Nagarpalika Act

Which of the following are the harmful effects of excessive use of
ground water?

() Ground water level depletes

(i) Amount of nitrates increases

(iii) Amount of fluorides increases

(iv) Amount of harzardous salts increases

(A) Only (i) and (i) (B) Only (i) and (iii)
(C) Only (i), (iii) and (iv) (D) All (i), (ii). (i) and (iv)
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141. ™Rddl PSLV«l 394l Gl aRl 101 A As «dl GuASd
sidl 923l cauidls uuoydldl @PRIZU HsAHE AL ¢di?
(A) 2iala siuRad dl. 2d 2liarrel Aest
(B) Qs st WPl HAldd 2 WAL AlEst
(C) 28l sl vt [A51U 24254 21 NASA (l2il)
(D) MRcld »ldRa »iqitid 2o 24 NASA (<iil)

142. @RAHL 394l UsRAl oisid] oddl Mol 97
(A) alsn (B) H1W12LA
(C) [aRua (D) g

143, 2iud Adl azd ovdl azdd Gouled 29l SAML 209 dd 9 seau?
(A) (501 (B) GeKklsrul
(C) 2ldld 2492950 (D) alslsal

144. sl ASReAl BiElovusdl VAL <=l Usl sl usikdl wd (ol
qeil 97
(A) B, 2RI e YL oyl Aoy Al wsn gdl Wi
(B) sM, wHlolasin ordl »ulds dail wivn Adl vl
(C) YR el AR AADUL WO ddl WL
(D) a€lazld Adil, Uedd 214 (gl as woa adl wd

145, <dladl sl sul [Aseu MRdle dsRedl Reoavilid did sHUL €qld 97
(A) o¢eRd, HOR-6¢eRA, dAgeeed orelRd, [WOISIUR
(B) ovelRd, dgeere or«lRd, HOYR or«iRd, [6191¢]uR
(C) orelRd, Horz-o/«Rd, sed, [w3<uR
(D) o¢eiRd, dgeedre orelRd, 5ed, [GISlUR

146.  stugldl ©2souldl Guaial s2d sREldl 52 GRAld, 2100 dl dd g 58 97
(A) 523kl (B) 52 Myl
(C) @iadl 2wl (D) 210
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141.

142.

143.

144.

145.

146.

The 101 international customer Nano satellites were launched by India’s
PSLV in its 39th flight as part of the commercial arrangements between:
(A) Antrix corporation Ltd. and the international customers

(B) Ministry of Science and Technology and international customers
(C) Defence research and development organisation and NASA

(D) Indian space research organisation and NASA.

Which type of unemployment is found in India?
(A) Cyclical (B) Structural
(C) Absolute (D) Relative

What is the policy of producing the goods domestically which are similar
to imports called?

(A) Privatization (B) Liberalization

(C) Import substitution (D) Globalization

Which of the following types of expenditure in the account of the

budget of the state government is a non-developmental expenditure?

(A) Expenditure on social services like eduction, health and nutrition

(B) Expenditure on economic services like agriculture-rural development

(C) Expenditure on transport and communication services

(D) Expenditure on administrative services, pension and retirement
benefits.

Which of the following options show the correct order of ranks in India
army?

(A) General, Major-General, Lieutenant General Brigadier

(B) General, Lieutenant General, Major General, Brigadier

(C) General, Major-General, Colonel, Brigadier

(D) General, Lieutenant General, Colonel, Brigadier

What is it called when a tax payer uses loopholes of law, to avoid the
payment of tax?

(A) Tax Evasion (B) Tax exploitation

(C) Double counting (D) Tax avoidance
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147, avutld Gouled-uthladl weeiui ulsd [edzaiol sdl Risid 2Audiadid

sel 697
(A) €35 alsad s (B) €5 ulsadd iedloy
(C) €5 ulsad «u (D) €5 ulsad Hsid

148, 2z2lalu (adlugn) «dl Rastid sigl sy sul?
(A) silzeu (B) ulta eldzuion
(C) ikl (D) ¥«

149. MRTP si&faud (1969) < zaid sul »iAldun el ?
(A) FERA, 1973 (B) FEMA, 1999
(C) 2uticHscl »Pidl sl 2002 (D) Guzdl Usl s «lé

150. 6dR Useaedl (AR [Qore 2AML 209 89, AR SIEL oldladld]
Al sidl WA gl 97
(A) sl UAsAUIA (B) sl adl »iglad
(C) MRaedl wr2uld (D) «a #ue
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147.  Which was the theory given by Pandit Deendayal with reference to
labour oriented production method?
(A) Work for everyone (B) Food for everyone
(C) Justice for everyone (D) House for everyone

148. Who gave the theory of trusteeship?
(A) Kautilya (B) Pandit Deen Dayal
(C) Gandhiji (D) Keynes

149. MRTP Act (1969) was replaced by which Act?
(A) FERA, 1973 (B) FEMA, 1999
(C) Competition Act, 2002 (D) None of the above

150. When a state legislature is dissolved, the law making power rests in
(A) State Governor (B) State High court
(C) President of India (D) Union Parliament
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